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1.0000 v(AV B)=v(BV A)
W(AVB)=T & v(A)=TO00 v(B) =T < v(B) =T0O00 v(A) =T
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2.0000 v(AA(BVC))=v((AAB)V(AANC))

vWAANBVC)=T—v(A)=TOOv(BVC)=T
v(BVC)=T—o(V)=T0O00v(C)=T
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v(A)=TO0vB)=TO000v(A)=TO00v(C)=T
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v(AV-A) =T - v(A)=T000 v(-4)=T

—v(A)=TO0000v(A)=T0000

v(A)=T00000000000000000000O00O0D0O0O0
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vA=B)=T —v(A)=FO0O0vB)=T

v(A)=FOO0O0Ov(AAB)=FO0OOOu(A) =v(AA B)
v(B)=TOOUOOv(AAB)=vA) 000000
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W(A \Y B) = 1;(—|(—|A A —|B))

vWAVB)=T —v(A)=T,»(V)=T 0000000000000
1)(—1(—|A/\—|B)):T<—>’1)(—|A/\—|B):F

o w(-A)=T 00 v(-B)=T 0000

v(=A)=F,u(~B)= FOOODDOOOOODOO
—wv(A)=T,»(B)=T 0000000000000
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v(A= B) =v(-~AV B)
vWA=B)=T—v(A)=TUO0O0vB)=TOv(A)=FOO0Ov(B)0O
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v(—mAVB)=T —v(-A)T,»(B)=T00000000000000
—v(A)=Fv(B)=T0000000000000
©(A)=TO000 «(B)=TOv(A)=FOO0»(B)000000000
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of=n4) = o(4)
v(-mA)=T s v(-A)=F —-v(A)=T
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XVX; X=X A= XVX;XAX=> A

000 X, ADD0D00O0O00
000000 wvw(A) =0B)00000 A=B00000000O0 100
000000000000000 =00000000000000000
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AVB= BVA;(AVB)A(AVC)= AV (BAB)

AV(ANB)= A;A= AV (AAB)
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X;XvX:»(X)=TOOODOODOwX)=FUOOOOODOOOOO

~X:0(X)=TD000D00»(X)=FO00O0000000

XVY=-X:0X)=F000000000uX)=T,0(Y)=T000
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XA=X;=(XV-X);~(AV(AAB) = A)



